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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2022

Part — II1 Time : 2 Hours
ELECTRONIC SYSTEMS Cool-off time : 15 Minutes

Maximum : 60 Scores

4 N

General Instructions to Candidates :

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.
Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1
A. Answer any S questions from 1 to 9. Each carries 1 score. B x1=5)

1.  An integrator act as filter.

2. The amplifier used in RC phase shift oscillator is

(CE Amplifier, CB Amplifier, CC Amplifier, None of these)

3. Total phase shift of an oscillator is

(180°,270°, 360°, 90°)

4. The output wave form of a Hartley Oscillator is

(Sine wave, Square wave, Triangular wave, Saw tooth wave)

5. In IC fabrication, selectively removing unwanted material from the surface of the

wafer is

(Deposition, Lithography, Etching, None of these)

6.  The transistors in SMPS switches between regions.

(Active and Saturation, Saturation and Cutoff, Cutoff and Active, None of these)

7. A Toggle flip-flop has number of data inputs.
8. is the angle of incidence above which total internal reflection occurs.
9. is a 8 bit micro-processor.

(8086, 8085, 80286, None of these)
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PART -1

A 1 2)@@8 9 Q190 ¢a13yBEla8 ago®mBlene 5 afANATIM DOMOOALL®):.

1 capod afl@o. (B3x1=5)
1. &) Integrator aOl@35A@ @RI (IAIBGIHIGNaM).
2. RC phase shift oscillator-@8 @a1¢@0u3la9)IM @Rogilanwd @Ry6IM.

(CE Amplifier, CB Amplifier, CC Amplifier, None of these)

(%

3. &o)oscillator-0a3 @6 phase shift @R)6Mm.

(180°,270°, 360°, 90°)

4. Hartley @omdlerigdlond 8mgal)g ¢alal Gando @RYsM.

(Sine wave, Square wave, Triangular wave, Saw tooth wave)

5. IC anognileansum@d @ralveilejon aadlel@@iay @loasmms)am 6¥1a1089)am

(a)(H>lWoeM

(Deposition, Lithography, Etching, None of these)

6.  SMPS-@3 transistors regions-@3 @R MLila] OalQAN@.

(Active and Saturation, Saturation and Cutoff, Cutoff and Active, None of these)

7. &) Toggle flip-flop-@3 awogq eBalSlOnd ag)emo @Y.
8. Angle-m) s glernem total gneadem@d Alag@uad Mo ileeymmm.
9. 830 8 nilg ©OACH0 C@a10aTVIVAE @RYEM.

(8086, 8085, 80286, None of these)
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10.

11.

12.

13.

14.

15.

16.

17.

Answer all questions from 10 to 13. Each carries 1 score. 4x1=4)

The cutoff frequency of a RC high pass filter is

1 , 1 ,2mRC,3.14RC
2nLC 2nRC

is the frequency of oscillation of oscillator.

1
21y LC

(Crystal, Hartley, RC phase shaft, None of these)

What does LSI stands for ?

(Logic System Integration, Large Scale Integration, Logic System Input, None of

these)

Defibrillator is a group equipment.

(Diagnostic, Analytical, Therapeutic, None of these)

PART - 11
Answer any 2 questions from 14 to 17. Each carries 2 scores. 2x2=4)

Draw the output wave form of a positive clamper whose input is a sinusoidal voltage

with peak to peak amplitude is 2 Vm.
Define CMRR of an OP-AMP.
Write the truth table of SR flip-flop.

Write short note on GSM.
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B. 10 2)®@3 13 0160 af)Lld ¢aldB e rdan)o 2OMO0a9)®d. 1 capod allmo.

dx1=4)
10.  RC 6600 aloaV abladgdleng cutoff @olaiada @Y.
1 1
, ,2nRC,3.14RC
2nLC 27RC
1
11. £ = asoavleelQaleaad  Frequency of aomileelauead
2nV/LC g0 ey °
LA YA06).

(Crystal, Hartley, RC phase shaft, None of these)

12.  LSI @95 alj@6m @)alo ag)a® ?

(Logic System Integration, Large Scale Integration, Logic System Input, None of

these)

13. Defibrillator (D)ol ValdOEMAdEM.

(Diagnostic, Analytical, Therapeutic, None of these)

PART - 11

A 14 2)@@8 17 190 2103488 ago®sslene 2 af)dNOmIm 2OMOOA)®)D:.
2 capod afl®e. 2x2=4)
14.  &0) catomiidlarl gomidled 2 Vm peak to peak amplitude 9as sinusoidal caloddege?

DA )5 ©0S)ENEMUINBS output GAIAT Gando QAL

15. OP-AMP-6a3 CMRR ail@ala l06)5.

16. SR flip-flop &3 (S)01® ¢SMNRB ag)9)®)H>.

17.  GSM oM &)0la e10e1) Alla106Mo agf)91@))d.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any 2 questions from 18 to 20. Each carries 2 scores.

Draw the circuit diagram of a series voltage regulator.

Name the four different types of shift registers.

What is graded index optical fiber ?

PART - 111

Answer any 3 questions from 21 to 24. Each carries 3 scores.

With a neat circuit diagram explain the working of RC phase shift oscillator.

What are the different steps of IC fabrication ?

(a) What does RADAR stands for ?

(b) Draw the block diagram of a RADAR.

What are the advantages of fibre optic communication ?

Answer any 2 questions from 25 to 27. Each carries 3 scores.

(a) Draw the circuit diagram of a voltage follower using Op-Amp 741.

(b) Give one application of voltage follower.

Distinguish between analog and digital TV.

Write short note on Blue Tooth Communication.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

18 2)@@3 20 2190 21033308 aBo®BIENe 2 af)INOTIM D2OMOOHAY}®)b.
2 capod alloo. 2x2=4)

Series cal0UBegER OOWERIQAIOA AVABHHNT W(Uo QOB D.
moei aly@myaun shift registers 3»8)0S GalOOOI®).
Graded index optical fiber a)ano@3 ag)am ?
PART - 111
21 )@@ 24 Q190 €a1ByEBSEIEE BEOBILNS 3 AfINOTIM DCDOOAI®)D:.
3 capod afl®e. B3x3=9)
TABYS WO alea] RC phase shift aomileaigdlond  (@l1aidamMo
flvodl @109

IC anognileasaurond allallw eeIgeEnRud age®Eeoo.

(a) RADAR-603 a3 @)alo af) @) @
(b) RADAR-ea3 Block diagram a1049)d. 2)

96a06MIAB Balfladr %o YEMICHNHUHF CNFEBUD af)DIDELIo.

25 2y®@3 27 Q190 ¢al13iEBElal ago®sslene 2 af)gPOTIM 2OMOOAY))D:.

3 capod afl®o. 2x3=06)

(@) Op-Amp 741 9alc@oufla] CAIOUWESER CaNIEBOOIGIONE TVBDYS AWDWo
QOB D>. 2)

(b) caR’BEsER Candez00IGIN B0} DalCWOWO af) ). )

@My TV @) aleflgad TV @o afleala 169). ali@pavssd of)9)m)d.

Blue Tooth 6m @)0la] 80} £19e1) Afla16Mo ag)9)®))d.
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28.

29.

30.

31.

32.

33.

PART -1V

Answer any 3 questions from 28 to 31. Each carries 4 scores. B x4=12)

With the help of a neat circuit diagram, explain the working of an Astable

multivibrator using IC 555.

(a) Draw the block diagram of a SMPS. A3)
(b)  Give one application of SMPS. 1)
(a) Draw the circuit diagram of a 4 : 1 multiplexer. 2%)
(b)  Write the truth table of 4 : 1 multiplexer. 1%)

Draw a neat block diagram of ECG machine.

Answer any 1 question from 32 to 33. Carries 4 scores. (1x4=4)

(a) Draw the circuit diagram and output wave form of RC differentiator for a square

wave input signal. A3)

(b)  Write one advantage of an active filter over passive filter. 1)

Draw the circuit diagram of a 3 bit Serial In Serial Out (SISO) shift register using

flip-flop and explain its working.
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28.

29.

30.

31.

32.

33.

PART -1V

28 2)®@3 31 Ao0 €a1034BEIa8 ago®®rlene 3 af)INATIM 2OMOOHAY)®)D.

4 capod afloo. (B x4=12)

IC 555 @alcouilaji@ss Astable multivibrator -3 afl@o Q4] (@IAIBGDMo

aflvodloa@lan .

(a) SMPS-ead block diagram a1089). 3
(b) SMPS-608 30} ©alC@OUN0o af)P)®). 1
(@)  4:1 ardsglalgolond e S W Wo AIOE)D. 2%)
(b)  4:1 ardsglalgolond S)om eSenilud af)9m)d . 17%)

ECG 0201§908 €RIOGH WD ((No QIQ)H>.

32 2)®@8 33 Q190 €21034BEla ago®mBslene 1 af)aMOTIM 2EMOHAY)®)D.

4 capoad. (1x4=4)

() RC differentiator qUBB\F W@ W0 QIO square wave gnada)SINMTLEla )83

output GAIAI GaNdo AIOBN . 3

(b) Active filter m alomSlal’ adl@3g0loM @REaIGH] 2] B30) EGMFo af) LI®)>. a

Flip-flop @alc@ouilaf 3 enilg mildlo@d gad alldlecd &g (SISO) oHlang

eogdlqudleag circuit diagram 010a] (1018@Mo Allvodl@le9)D.
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PART -V
Answer any 2 questions from 34 to 36. Each carries 6 scores. 2x6=12)
34. (a) Whatis a clipper ? 1)

(b) Draw the circuit diagram of a clipper circuit for obtaining the given output wave

from a sine wave input. Q)

VI\

+ VM L o

Vi |

0 \/ -
-V,
(c) Draw the output wave form of given clamper circuit. 2)
A 3 ] 3
+Vult- C

v
<

I

o

MWV

~

o
g =
o
=1

35. (a) Draw the block diagram of JK Master Slave flip-flop and write the Truth Table. (4)

(b) Compare asynchronous and synchronous counter. 2)

36. (a) With the help of a block diagram, explain the working of a Public Address
System. 3

(b) Explain the constructional details of a Loud Speaker. A3
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PART -V
34 2)®@a8 36 Q100 21938 aBo®BIENe 2 af)IROTIM DCMOOALI®)d>.

6 capod afloeo. 2x6=12)
34. (a) agamosm &30) clipper CLABYS ? 1)

(b) &0 sine wave eDMBal}g OGHIS)HNCMUIUD @IOY OBISIAMIAISH)N output

wave from e1€le9)mM@MOIvDiM0® 60} clipper MVBE g WD (Wo AUOBNB>. A3)
VI\
+ VM L o
VB -

0 \/ -
— VM

()  ©20% OIS OIIElEe )M clamper circuit ©3 B3 al)5 GAIOT GaNdo AIOSND.  (2)

]
vl e f

35. (a) &) JK Master Slave flip-flop o3 ceoss aw@wo aloa] Truth Table
af) 9} M. “4)

(b) Asynchronous o synchronous counter o @0@2 o )2 1Q))d. ?2)

36. (a) &0y block diagram-003 @La00WEEMIOS Public Address System-6a3

(IQIB@MMo AfldEld0lB6)w. Q)

(b) Loud Speaker-ea3 Constructional details afluodla@lae)s. A3)
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